
R

1
4

2

11

12

7
8

9

3

6

5

18

19 20

21

16

17

14

13

24

25

22

23

15

www.vollrath.com Page 1 of 1 © 2022  Document No.  FC-6DV-36_SPR          Rev. A

FLEXVENT VERSATILE SLIDE-IN WITH DOWNDRAFT VENT AND FIRE SUPPRESSION SYSTEM - 36 INCH



R

*NOT SHOWN

REPLACEMENT PARTS

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 352010-1 PARTICULATE FILTER 2

2 352035-2 GREASE FILTER, 6X18 2

3 352031-2 INTERLOCK BOX ASSEMBLY 1

4 352034-2 DRIP TRAY ASSEMBLY 1

5 352008-2 HOOD ASSEMBLY 1

6 352044-2 SHELF ASSEMBLY 1

7 352051-1 RISER CAP 2

8 352054-2 RISER TUBE - 2" DIAMETER 2

9 352398-2 RISER BOTTOM TRIM 2

10 352002-1 FLEXVENT CONTROL, WIRE SET 1

11 352047-1 FLEXVENT CONTROL, UI 1

12 352058-1 FLEXVENT CONTROL, PRESSURE 1

13 2503345-1 NOZZLE SWIVEL ADAPTOR 3

14 2503344-1 1W NOZZLE WITH METAL CAPS 4

15 2503351-1 SL 165 - STYLE LINK 3

16 2503349-1 REMOTE PULL STATION, 50' WIRE 1

17 2503342-1 1.5 GAL AGENT TANK ASSEMBLY 1

18 351996-1 PSC FAN 1

19 352014-1 STRAIN RELIEF, .220-.290 CORD, 1

20 352015-1 STRAIN RELIEF, .130-.210 CORD, 1

21 352055-1 2" SIGHT GLASS 1

HARDWARE (GENERAL SPECIFICATION)

ITEM NO. DESCRIPTION

22 10-32 X 3/8" SS SET SCREW, CUP POINT

23 1/4-20 X 1/4" SHOULDER SCREW, SS

24 8-32 X 1" PHILLIPS PH SCREW

25 #8 X 1/2" TYPE 25 TC PHILLIPS PH SCREW

www.vollrath.com Page 1 of 1 © 2022  Document No.  FC-6DV-36_SPR          Rev. A

FLEXVENT VERSATILE SLIDE-IN WITH DOWNDRAFT VENT AND FIRE SUPPRESSION SYSTEM - 36 INCH


